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Qwihwpwdhu 1:

Yudwu wnwplw b hwunhuwunw' hwg:

<pwytiph wwhwugubkphu <pwytiph wwhwugubphu
Uwutwlygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnip)ul
/< wuyjwundp hwjunbp hwjunbp hwdwnnun UYwpwapRypEnt
/hwdwwwwnwufuwubnt /[shwdwwwwnwufuwubint
nbwpnud ugk) “X”/ nbwpnud ugk “X”/
1 «r}w‘uhbuw‘u» umnp X
U/a Uhbip
2 Lwjpwwbiinjw X
Lunpwsd
Uwutwlygh
Uwuhwll:hgbl;nh Uwutiwygh ljllijuhwuhg wnwowpywd ghu
qruntgnu wuywunwip puunyu /wnwtg U<Z, hwq.
wbinkpp dwutwygh hwdwnp wy/
Ul “X”/ nn
1 «hwuhtyuws UM X 302 500
2 W/a Uhtip <wjpwwbuywu 338 800
Cunpqwsd Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quithwpwdhu N 2:
Yudwu wnwplw & hwunhuwund' pnylyh:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnipjul
/< wujwundip hwjwntp hwjnbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint .
nbwpnud ugk) “X”/ nbwpnud uok “X”/
1 «hwithbywu» UM
) U/3 Uhtip
Lwjpwybiinjwu
Uwutwygh
Uwutwyhgubph Uwubiwlgh Lunpywd dwutwyhg wnwownlyws ght
qpuntignwd wuywunwip /twnndud dwubwlgh | e Uce, hug
wbinbkpp hwdwp ugb| “X”/ r}nuui/, ’
1 «hwiupbywu» UMC X 326 666,67
2 U/2 Uhtip <wjpuiwybinwu 364 000

Cunpqwsd Jwuuwlyghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwyn b quuwihtu wnwowpl:




Qwihwpwdhu N 3:

Fuiwu wnwplw b hwunhuwunw' swpwpwywq:

<pwytiph wwhwugubphtu | <pwybph ywhwuoutiphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnp)ul
/< wujwunip hwjwintp hwjwnbp hwdwnnun twpwgpnypnty
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt nugnnype!
nbwpnid uoky “X”/ nbwpnd uok “X”/
; U/2 Uhbip X
Lwjpwwbiinjwu
Uwutwygh
qpml;l l?n wuyjwunwip L hwndw b “X”/g /wnwug ULL, hwg.
nupp n b24] npwy/
1 U/Q Uhbip <wjpuiwbiunywu X 114 380
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 5:
Qudwt wnwplw b hwunhuwund' Yupwg:
<pwybpp wwhwugutiphtu | <pwybiph ywhwug9ubphu
Uwutwygh hwidwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwufuwbnie)wl
/< wujwundip hwjwintp hwjwnbp hwdwnnun Uwpwgpnypnil
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nlugnnye
nbwpnud ugki “X”/ nbwpnud ugki| “X”/
1 «fnhpwdhr}w LJIIJJ‘I‘UU]» X
une
Uwutwygh
qpml? 3" wuywunwip o hw“dw b /9 /wnwlg ULZ, hugq.
nupp n u24] nnwd/
1 «Mhpwdhnw Yyhumns UNC X 850 000
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwnp guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 6:
Qudwu wnwplw b hwunhuwunw' wplwdwnyh &bp:
<pwybpph wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuuwbnie)wl
/< wuyjwundip hwjunbkp hwjunbip hwdwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint gy
nbwpnu ugk “X”/ nbwpnud uok “X”/
1 «Mhpwdhnw Yyhuwn» X
umne
Uwutwygh
qp;’l;l 3’"“ wuywunwip o hw"du‘j‘ y “b‘”)‘f /9 Jwnwlg U<Z, hugq.
napp n b24] nnwd/
1 «Mhpwdhnw Yyhun» UNC X 173 333,33

Cunpqwsd Jwuuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin W quwihtu wnwowpl:




Qwihwpwdhu N 7:

Quiwu wnwplw b hwunhuwunw' prywubp:

<pwytiph wwhwugubphtu | <pwybph ywhwuoutiphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnie)uwl
/< wujwunip hwjwintp hwjwnbp hwdwnnun twpwgpnypnty
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt nugnnyE
nbwpnid uoky “X”/ nbwpnd uok “X”/
; U/2 Uhtip X
Lwjpwwbiinjwu
Uwutwygh
qpml;l l?n wuyjwunwip L hwndw b “X”/g /wnwug ULL, hwg.
nupp n u2b| npwd/
1 U/Q Uhbip <wjpuiwbiunywu X 94 900
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:
Qwithwpwdhu N 8:
Qudwt wnwplw b hwunhuwunud' Yupuwsann:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwidwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwufuwbnie)wl
/< wujwundip hwjwintp hwjwntp hwdwnnun Uwpwgpnypnil
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nlugnnye
nbwpnud ugki “X”/ nbwpnud ugki| “X”/
1 W/a Uhbip X
Lwjpwwbnjw
Cunpjwd
dwutiwyhg
U“’“E“‘L‘hgzlg'h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qpml? é]l‘ wuyjwunwip dwutiwygh fwnwug ULL, hwq. npwd/
o hwdwp Uk
“X"/
u/a Uhtip
1 Cupuigbnju X 175 500
Cunpqwsd Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quthwpwdhu N 9:
Yudwu wnwplyw § hwunhuwun' Ywpe:
<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnip)ul
/< wujwundp hwjwntp hwjwntip hwdwnnun U4wpwgpnypnil
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nugnnye!
nbwpnud bk “X”/ nbwpnud ugk “X”/
1 W/a Uhtip X
Lwjpwwbinjwu
Cunpjwd
dwutiwyhg
Uwull:‘wghgtl:jl;nh Uwutwygh /punpqwd Uwutwlygh wnwowpywsé ghu
qpml? 3" wuywunwip dwuliwlgh /wnwlg U<Z, hug. npwd/
nre hwdwp ugb|
uxw/
U/a Uhtip
1 Cupuigbinjul X 312 000




Cunpqws Jwuuwlghu npnobine hwdwp Yhpwndwsd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowply:

Quithwpwdhu N 10:

Qudwt wnwplw b hwunhuwunu' dwéniu:

<pwybpp wwhwugutipht | <pwybph ywhwuubphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywinwufuwbnipjut
</< wujwunip hwjunbip hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint gy
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
1 U/ Uhtip
Lwjpwwbiinjw
Cunpjwd
dwutwyhg
U“’”E‘”L"‘gz?h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qpml? é]l‘ wujwunwdip dwutiwygh /wnwug ULL, hwq. npwd/
o hwdwp Uk
uxn/
U/a Uhtip
1 Cupuugbnui X 313 200
Cunpqwsd dwutuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwpn b quwiht wnwowpl:
Quithwpwdhu N 11:
Qudwu wnwplyw § hwunhuwun' gnid unfu:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwlygh hwiwwywwnwufuwunn shwdwwywunwufuwunn Uthwdwywinwuiwbnip)ul
/< wuyjwunwip hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnype!
nbwpnud ugk) “X”/ nbwpnud bk “X”/
1 U/ Uhtip X
Lwjpwwbinjw
Cunpjwd
dwutwyhg
U“’“‘;“‘L‘mz‘;"h Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ght
qpmél 3" wuywunwip dwutiwlgh /wnwlg U<Z, hwq. npwd/
nno hwdwp ugk|
uxn/
u/a Uhtip
1 Cupuiugbnjui X 23 200
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 12:
Yudwu wnwplw § hwunhuwundd' Yepwyph wn:
<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwuiwbnip)ul
/< wujwundp hwjwntp hwjwntip huidwnnun ly el
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint waw wpignnypEnt
nbiwpnud Uk “X”/ nGwpnud ugk| “X”/
1 W/a Uhtip X
Lwjpwwbinjwt




Cunpwd
dwutiwlyhg
Uwu:‘ulllj{hgzl;nh Uwutwygh /punpwd Uwutwlygh wnwowpywsé ghu
qp.,..? 3 r wuyjwunuip Jwutiwlgh /wnwug U<L, hwq. npwd/
e hwdwp Uk
Nx”/
U/Q Uhbp
1 Lwjpwwbitnjwu X 16 200

Cunpqwsd dwutuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:

Quithwpwdhu N 13:
Gudwu wnwpyuw k£ h

wunhuwunw' phj:

<pwybpp wwhwugutipht | <pwybiph ywhwugubphu
Uwutwlygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwiwywinwufuwbnipjut
/< wuyjwundp hwjunbp hwjunbip hwdwnnun UYwpwapRypEnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint
nbwpnud ugh) “X”/ nbwpnud uok “X”/
1 U/ Uhtip X
Lwjpwwbiinjw
Cunpjwd
dwutiwyhg
U“‘”E“‘L"‘g::;"h Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ghl
qpml;l Sn wuyjwunwip dwutiwygh /wnwug ULL, hwq. npwd/
nno hwdwp ugk|
uxn/
W/a Uhtip
1 Lwjpwwbitnjwu X 5600
Cunpywd Jwutwyght npnobint hwdwp Yphpwnwd swihwuhy' pwdwpwp guwhwnydwsd hwyn b quwiht wnwewny
Quithwpwdhu N 14:
Qudwu wnwplw b hwunhuwun' pphua:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwufuwbnie)wl
/< wuyjwunwip hwjunbkp hwjunbip hwidwnnin UywpwapRypEnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint
nbwpnu ugk “X”/ nbwpnud uok “X”/
1 «fnhpwdhr}w LJIL“‘I‘[JU]» X
une
Uu/2 Uhtip <
Lwjpwwbiinjwu
Cunpjwd
dwutiwyhg
Uwuhwll:hgbl;ph Uwutwygh /punpqwd Uwutwlygh wnwowpywsé ghu
qp;’l;l 3’““ wuywunwip dwulwlgh /wnwlg U<Z, hug. npwd/
nre hwdwp ugb|
“X”/
«Mhpwdhnw 4yhuwn» UMC X 60 000
2 U/2 Uhbip <wjpwuybivywu 78 000




Cunpqws Jwuuwlghu npnobine hwdwp Yhpwndwsd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowply:

Quithwpwdhu N 15:
Qudwu wnwplw b hwunhuwunw' hunywadwdwp:

<{pwybpph wwhwugubphu

<pwybpp wwhwugubphu

Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywinwufuwbnipjut
</< wujwunip hwjunbip hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint gy
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
1 «Mhpwdhnw Yyhuwn» M
une
/3 Uhbip <
Lwjpwwbnjwu
Cunpjwd
dwutiwyhg
Uwu:‘wghgll:‘l;nh Uwutiwygh /punpqwd Uwutiwlygh wnwowpywsé ghu
qpml? é"‘ wuywunwip Jwutwlgh /wnwlg U<Z, hwq. npwd/
nro hwdwp Uk
uxn/
1 «Mhpwdhnw 4yhuwn» UMC 59 375
2 U/ Uhtip <wjpwwbujwu 80 750
Cunpqwsd dwutuwlghtu npnobine hwdwp Yhpwndwsd swihwuhs' pwdwpwp guwhwndwsd hwin W quwihtu wnwowpl:
Quwithwpwdhu N 16:
Yudwu wnwplw § hwunhuwunud' dwywpnubinbu:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwlygh hwiwwywwnwufuwunn shwdwwywunwufuwunn Ubhwiwywinwufuwbnipjut
/< wuyjwunwdp hwjunbip hwjunbip hwidwnnin twpwgpnypnty
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnype!
nbwpnud ugk) “X”/ nbwpnud bk “X”/
1 «Mhpwdhnw Yyhuwn» X
ymne
5 /3 Uhbip X
Lwjpwwbunjwu
Cunpjwd
dwutiwyhg
Uwu'(l:‘ulll:hgll:jl;nh Uwutwygh /punpqwd Uwutwlygh wnwowpywsé ghu
qpml? 3[‘ wujwundip dwutiwygh /wnwug ULL, hwq. npwd/
nre hwdwp Uk
uxw/
1 «Mhpwdhnw Yyhtwn» UMC 69 333,33
2 U/2 Uhtip <wjpuiwybinwu 91 000

Cunpywd Jwutwyght npnatint hwdwp Yphpwndwd swihwuhs' pwdwpwp guwhwnydwsd hwyn b quwiht wnweowny:

Quithwpwdhu N 17:
Qudwu wnwplw b hwunhuwunad' tnindwunh dwdniy:




<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uhwiwuywinwuiwbniewl
/< wuyjwundip hwjuntip hwjunbip hwdwnnl:l ulwpwgpnt mmh
/hwdwwwwnwufuwubnt /shwdiwwwunwuluwubnt nugnnype!
nbwpnid uoky “X”/ nbwpnd bk “X”/
1 W/a Uhtip X
Lwjpwubinjwt
Cunpwd
dwutiwyhg
Uulu:‘ulghgll:‘l;nh Uwutiwygh /punpqwd Uwutiwygh wnwowpywsé ghu
QPml;l é]l‘ wujwunwip dwutwygh /wnwug ULL, hwq. npud/
o hwdwp ugk|
uxn/
W/Q Uhbip
1 Cupugbnuy X 69 000
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 18:
Yudwu wnwplw & hwunhuwund® éne:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwlygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwdwywinwuiwbnip)wl
<< wuywunwip hwjntin hwjnbip - dwnnﬁ Wyapwannt ""{1 0
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nugnnye!
nbwpnud ugh) “X”/ nbwpnud uok “X”/
1 «Mhpwdhnw Yyhuwn» X
une
Cunpjwd
dwutwyhg
U“’”:}‘“L‘hgtu‘:;"h Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ghl
qpml? 3" wuywunwip dwutwlgh /wnwlg U<Z, hwq. npwd/
nno hwdwp ugk|
uxn/
1 «Mhpwdhnw 4Yghuu» UNC X 69 000
Cunpqwsd Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quuwiht wnwowpl:
Quithwpwdhu N 20:
Yudwu wnwplw § hwunhuwund' upwdb) Ynudbin:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Uhwiwuywinwuluwbniewy
<< wuywunwip hwjntip hwjntip bwdumnus lwnugnnt ‘n 0
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nugnnye!
nbwpnud ugk) “X”/ nbwpnud uoki “X”/
1 W/a Uhtip
Lwjpwwbinjwu
Cunpjwd
dwutiwyhg
U“’”E‘“L‘hgtl::;"h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qruntgn wuywunwip dwutiwlgh /wnwlg U<Z, hugq. npwd/
wbintipp
hwdwp ugb|
uxn/
U/a Uhtip
1 Cupuigbnui X 66 250




Cunpqws Jwuuwlghu npnobine hwdwp Yhpwndwsd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowply:

Quithwpwdhu N 21:

Qudwu wnwplw b hwunhuwunw' plujwsdpwp(hpe:

<pwybpp wwhwugutipht | <pwybph ywhwuubphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywinwufuwbnipjut
</< wujwunip hwjunbip hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint gy
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
1 «Mhpwdhnw Yyhuwn» X
une
2 W/a Uhtip X
Lwjpwubinjwt
Cunpjwd
dwutwyhg
Uwuhwll:hgbl;nh Uwutiwygh /punpqwd Uwutwlygh wnwowpywsé ghu
qp:él é"““ wuywunwip Jwutwlgh /wnwlg U<Z, hwq. npwd/
nro hwdwp ugb|
“X"/
1 «Mhpwdhnw Yyhun» UNC X 77 500
U/ Uhtip
2 Cupuiugbinju 102 300

Cunpywd Jwutwlght npnatint hwdwp Yhpwngws swihwuhy' pwwpwp quwhwndws hwyn b quwht wnwow

Quithwpwdhu N 24:

Qudwu wnwpYw £ hwunhuwund® gnpbuwdwywn:

<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwiwywinwufuwbnipjul
/< wuyjwundp hwjunbkp hwjunbip hwdwnnin UYwpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk) “X”/ nbwpnud uok “X”/
1 «Mhpwdhnw Yyhuwn»
une
W/a Uhtip
Lwjpwwbinjwu
Cunpjwd
dwutiwyhg
Uwull:‘lull:hgll:jl;nh Uwutiwygh /punpywd Uwutwlygh wnwowpywsé ghu
qpml? 3" wuywunwip dwutiwlgh /wnwlg U<Z, hwgq. npwd/
nre hwdwp Uk
“X”/
1 «Mhpwdhnw Yyhun» UNC 28 875
u/a Uhtip
Lwjpwybinjwu 36750
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 25:
Yudwu wnwplw & hwunhuwund' nbinhu ninn:
<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwlygh hwiwwywwnwufuwunn shwdwywunwufuwunn Uthwidwwywinwuiwbnip)ul
/< wuyjwundip hwjunbkip hwjunbip hwidwnnin UywpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugh “X”/ nGwpnu ugk| “X”/




1 «'T]hnwdhmu LJIL“‘I‘[JU]» X
une
9 Wa Uhtip X
Lwjpwwbinjw
Cunpwd
dwutwyhg
quu'tl:‘ujll:hgtl:‘l;nh Uwutiwygh /punpqwd Uwutiwygh wnwowpywsé ghu
qpml;l é]l‘ wujwunwip dwutwygh /wnwug ULL, hwq. npud/
o hwdwp ugb|
uxn/
1 «Mhpwdhnw Yyhun» UNC X 12 375
W/Q Uhbip
2 Lwjpwubitnjwu 15750
Cunpqwsd dwutuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowply:
Quithwpwdhu N 26:
Yudwu wnwplyw § hwunhuwund' nwdwpp dhu:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwlwwywunwufuwunn Uthwidwywinwuiwbnip)ul
/< wuyjwundp hwjunbp hwjunbip hwdwnnun UYwpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk) “X”/ nbwpnud ugki “X”/
1 U/a Ujhy Ubynjw X
2 | «whpwduius UNE X Lw“ﬁg‘l‘;ﬂ‘{gjﬂgﬁn‘ugm
Cunpjwd
dwutiwyhg
U“’“E“‘L‘hgzlg'h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qpml? é]l‘ wuyjwunwip dwutiwygh /wnwug ULL, hwq. npwd/
o hwdwp Uk
uxn/
1 w/a Ujhy Uty X 1449 000
2 «rlujhnwdw‘u» umpe 1 404 000
Cunpqwsd Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin W quwihtu wnwowpl:
Quithwpwdhu N 27:
Yudwu wnwplw & hwunhuwunud® wwupp nnph
<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwujuwunn shwdwwwunwufuwunn Uthwdwywinwuiwbnip)ul
/< wuyjwunwip hwjunbkp hwjunbip hwdwnnin UYwpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk) “X”/ nbwpnud uoki| “X”/
1 W/a Uhtip X
Lwjpwwbinjwu
Cunpjwd
dwutiwyhg
Uwull:‘wghgtl:jl;nh Uwutiwygh /punpqwd Uwutiwlygh wnwowpywsé ghu
qpmél é]l‘ wuyjwunwdip dwutiwygh /wnwug ULL, hwq. npwd/
e hwdwp ugb|
uxn/




U/Q Uhtip
Lwjpwwbitnjwu

87 400

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 29:

Qudwu wnwplw b hwunhuwunw' hwéwph dwlwp:

<pwytiph wwhwugubphtu | <pwybph ywhwuoutiphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywinwufuwbnipjut
/< wujwunip hwjwintp hwjwnbp hwdwnnun Uwpwgpnypenil
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nLugnnie
nbwpnud ugh “X”/ nGwpnu ugk| “X”/
1 W/a Uhtip X
Lwjpwwbinjwu
Cunpwd
dwutwyhg
Uwulwlhgubinh Uwutwlygh /punpqwd Uwutwygh wnwowpywd ghu
qruntigpwd 2 J
wujwunwdip dwutwygh Jwnwug ULL, huqg. npwd/
wbinbinp J J
hwdwp ugb|
“X"/
U/ Uhtip
1 Cupuigbinju X 26 000
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwsd swihwuhy' pwdwpwp guwhwndwd hwyn b quwiht wnwowny:
Quithwpwdhu N 30:
Qudwu wnwplw b hwunhuwun' 9bd:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwidwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwufuwbnie)wl
/< wuyjwundp hwjunbkp hwjunbip hwdwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubnt nlugnnye
nbwpnud ugk “X”/ nbwpnud uoki| “X”/
1 «fﬁhnwdhqw "‘Il{h'(]ln» X
umne
2 U/ Uhtip X
Lwjpwwbiinjwu
Cunpjwd
dwutiwyhg
UwuwlhgUtinh Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qrwntignws
nbinb wujwundip dwutiwygh /wnwug ULL, hwq. npwd/
nung hwdwp ugb|
Hx"/
1 «‘T]hpwdnr%ué Hl{hhm» X 79 083,33
u/a Uhtip
2 Cuypuibnut 100 745

Cunpywd Jwutwlght npnobint hwdwp Yphpwnwd swihwuhs' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Qwithwpwdhu N 31:

Yuiwu wnwplw b hwunhuwunw' pwuwu:
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<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnie)wl
/< wuyjwundip hwjunbkip hwjunbip hwdwnnun twpwapnypntl
/hwdwwwwnwufuwubnt /shwdiwwwunwuluwubnt
nbwpnid uoky “X”/ nbwpnd bk “X”/
1 W/a Uhtip X
Lwjpwubinjwt
Cunpwd
dwutiwyhg
Uulu:‘ulghgll:‘l;nh Uwutiwygh /punpqwd Uwutiwygh wnwowpywsé ghu
QPml;l é]l‘ wujwunwip dwutwygh /wnwug ULL, hwq. npud/
o hwdwp ugk|
uxn/
W/Q Uhbip
1 Cupugbnuy X 37 400
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 32:
Yudwu wnwplyw § hwunhuwund' fuwnp Yuuwsh:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwlygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwiwywinwufuwbnipjul
/< wuyjwundp hwjunbp hwjunbip hwdwnnun UYwpwapnypEnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint
nbwpnud ugh) “X”/ nbwpnud uok “X”/
1 U/ Uhtip X
Lwjpwwbiinjw
Cunpjwd
dwutwyhg
U“’“‘;“‘L‘hgﬁg'h Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ghl
Q.Pml;l Sn wuyjwunwip dwutiwygh fwnwug ULL, hwq. npwd/
nno hwdwp ugk|
(&X"/
u/a Uhtip
1 Cupuiugbinjui X 30 600

Cunpywd Jwutwlght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 34:

Qudwu wnwplw b hwunhuwun' hwiyuw:

<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuuwbnie)wl
/< wujwundp hwjwntp hwjwnbip hwdwnnun twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbiwpnu ok “X”/ ntiwpnid ugky “X”/
1 «‘ﬁhpwdhr}w L11.”']'(“!]» X
une
9 W/a Uhtip X
Lwjpwwbinjw
Cunpjwd
UwulwlhgLtinp Uwutiwygh Juutiwlhg Uwutiwlygh wnwowpywsé ghu
qpuintignwd wuywunwip /puunnduis /wnwug ULL, hwq. npwd/
wbnbtpp dwutwygh ’ !
hwdwp ugb|
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“X7/

1

«"ﬂhpwdhr}w L*Il“‘l‘um»

e X 47 000
U/a Uhtip
2 ot X 57 340

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 35:

Qudwt wnwplw b hwunhuwund® swdhg:

<pwybpph wwhwugutipht | <pwybph ywhwug9ubphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywinwufuwbnipjut
/< wujwunip hwjunbip hwjunbip hwdwnnin UYwpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
1 U/ Uhtip X
Lwjpwwbiinjw
Cunpjwd
dwutwyhg
U“‘”E“‘L‘hgzlg'h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qpml? é]l‘ wujwunwdip dwutiwygh /wnwug ULL, hwq. npwd/
it hwdwp Uk
uxn/
U/a Uhtip
1 Lwjpwwbitnjwu X 9600
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwp guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 36:
Qudwt wnwplw b hwunhuwund® wynip:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwlygh hwiwwywwnwufuwunn shwdwwywunwufuwunn Ubhwiwywinwufuwbnipjut
/< wuyjwunwip hwjunbkp hwjunbip hwdwnnin UywpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk) “X”/ nbwpnud uok “X”/
1 U/ Uhtip X
Lwjpwwbiinjwu
Cunpjwd
dwutiwyhg
U“‘“E“‘L‘hgt‘:j’;"h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
Q.Pml;l Sn wujwundip dwutiwygh /wnwug ULL, hwq. npwd/
nnp hwdwp ugb|
Hx"/
u/a Uhtip
1 Cupuiugbnjui X 52 000

Cunpqwsd Jwuuwlyghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin W quwihtu wnwowpl:

Qwithwpwdhu N 39:
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Qudwu wnwplw b hwunhuwunud' Yulwn:

<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywunwufuwbnipjut
/< wujwunip hwjunbip hwjunbip hwdwnnin UYwpwapRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
1 U/ Uhtip X
Lwjpwwbiinjw
Cunpjwd
dwutwyhg
Uwu:‘wll:hgrjl;ph Uwutwygh /punpywd Uwutwlygh wnwowpywsé ghu
qpml;l l?n wuyjwunwip dwutiwygh fwnwug ULL, hwq. npwd/
nrt hwdwp ugb|
uxn/
U/a Uhtip
1 Cuypuugbnui X 11 000
Cunpqwsd Jwutuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quithwpwdhu N 41:
Yudwu wnwplyw § hwunhuwundd' uyhunwwdwywp:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwlwwywunwufuwunn Ubhwiwywinwufuwbnipjut
/< wuyjwunip hwjwnbp hwynbp hwdwnnun twpwapnypntl
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnud ugk) “X”/ nbwpnud uok “X”/
1 U/ Uhtip X
Lwjpwwbiinjwu
Cunpjwd
dwutwyhg
U“’“‘;“‘L‘mz‘;"h Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ghl
q-pml? Sn wuyjwunwip dwutiwygh /wnwug ULL, hwq. npwd/
nno hwdwp ugk|
uxn/
W/a Uhtip
1 Cupuiugbnjui X 23 560

Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:

Quithwpwdhu N 42:

Yudwu wnwplyw § hwunhuwund' nuw:

<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwuiwbnip)ul
/< wujwundp hwjwntp hwjwnbip hwdwnnin UYwpwapRypEnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint
nbwpnid uoky “X”/ nbwpnd uok “X”/
1 «'T]hnludhr}w L1l{h'(‘lln» X
une
2 U/ Uhbtip X
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Lwjpwwbinjw

Lunpwd
dwutiwyhg
Uulu:‘ulll:hgll:‘l;nh Uwutiwygh /punpwd Uwutiwlygh wnwowpywsé ghu
qpml;l gn wuwunuip Jwutiwlgh /wnwug U<<, hwq. npwd/
nspp hwdwp ugk|
(AX!Y/
«’nhpwdhr}w "'Il,[htlm»
1 UM X 61208,33
u/a Uhtip
2 Lwjpwubitnjwu 74580

Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 43: nwihubunbpl:

<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwlygh hwiwwywwnwufuwunn shwlwywunwufuwunn Uthwidwywinwuiwbnip)ul
/< wujwundip hwjwntp hwjnbip huidwnnun ly I
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wau wpignnype
nbwpnud ugh) “X”/ nbwpnud uok “X”/
1 W/a Uhbip X
Lwjpwwbinjwu
Cunpjwd
dwutwyhg
Uwuhwll:hgbl;nh Uwutiwygh /punpywd Uwutwlygh wnwowpywsé ghu
qruntgnu wuywunwip dwuliwlgh /wnwlg US<, hwq. npwd/
wbintinp
hwdwp ugk|
uxn/
U/ Uhtip
1 Lwjpwwbitnjwu X 3200
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwn guwhwndwsd hwyn b quwiht wnweowny:
9 ] ]
Quithwpwdhu N 44: onynjunwuwun Ynudtinn:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwuiwbnip)ul
/< wujwundip hwjwntp hwjnbip hwdwnnun Uwpwgpnypnil
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nugnnye!
nbwpnud bk “X”/ nbwpnud ugk “X”/
1 «‘ﬁhpwdhr}w L11.”']'(“!]» X
une
) W/a Uhtip X
Lwjpwwbinjw
Cunpjwd
dwutiwyhg
U“‘“E“‘L‘hgt‘:j’;"h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qruntgn wujwundip dwutwlgh Jwnwug ULL, huq. npwd/
wbintipp J I
hwdwp ugk|
uxn/
«Mhpwdhnw Yyghuwn»
1 umnE X 110 000
2 U/a Uhtip 120 000
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| Lwjpwwbitnjwu

Cunpywd Jwutwlght npnotint hwdwp Yphpwndwsd swihwuhs' pwdwpwp guwhwnydws hwyn b quuiht wnweowny:
Quwithwpwdhu N 45: Yhwpnu:

<pwybpph wwhwugutipht | <pwybph ywhwugubphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwidwwwinwuiwbnip)ul
/< wujwunip hwjunbip hwjunbip hwidwnnin tlwpuwapnt Jmh
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint gy
nbwpnud ugk “X”/ nGwpnu ugk| “X”/
1 U/ Uhtip X
Lwjpwwbiinjw
Cunpjwd
dwutwyhg
UwulwlhgLtinp Uwutwygh /punpywd Uwutwlygh wnwowpywsé ghu
qruntigpwd
nbinb wujwunwdip dwutiwygh /wnwug ULL, hwq. npwd/
it hwdwp Uk
uxn/
U/a Uhtip
1 Lwjpwwbitnjwu X 4800
Cunpywd Jwutwlght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwn guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 46: dwpdbjwn:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwlwwywunwufuwunn Ubhwdwwywinwuiwbnip)w
<< wuywunwip hwjntin hwjnbip - dwnnﬁ Wyapwannt ""{1 0
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubnt nugnnype!
nbwpnud ugk) “X”/ nbwpnud ugki “X”/
1 U/ Uhtip X
Lwjpwwbinjw
Cunpjwd
dwutwyhg
UwulwlhgLtinp Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ght
qrwnbignws
nbinb wuyjwunwip dwutiwygh /wnwug ULL, hwq. npwd/
nno hwdwp ugk|
uxn/
u/a Uhtip
1 Cupuigbnjui X 75000
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwn guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 48: Yapwyph unnuw:
<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwuiwbnip)ul
/< wuyjwundip hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint nugnnye!
nbwpnud ugk) “X”/ nbwpnud uok “X”/
1 W/a Uhtip X
Lwjpwwbinjwu
Cunpjwd
dwutiwyhg
UwulwlhgLtinp Uwutwlygh /punpqwd Uwutwygh wnwowpywd ghu
qruntgpwd 2 J
bnb wuywunwip dwutiwygh /wnwug ULL, hwq. npwd/
nunung hwdwp ugb|
uxn/
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1

U/Q Uhtip
Lwjpwwbitnjwu

X

1680

Cunpywd Jwutwyght npnotint hwdwp Yphpwndwsd swihwuhs' pwdwpwp guwhwndws hwyn b quuwiht wnwowny:

Qwihwpwdhu N 49:

Yudwu wnwplw § hwunhuwund' dnipupw:

<pwybpp wwhwugutipht | <pwybph ywhwuubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwiwywunwufuwbnipjut
</< wujwunip hwjnbp hwyntp huiwnnin UwpwgpRypEnt
/hwdwwwwnwufuwubnt /shwdiwwwunwuluwubnt nugnnype!
nbwpnid uoky “X”/ nbwpnd uok “X”/
| U/ Uhtip X
Lwjpwwbinjw
Cunpjwd
dwutiwyhg
Uwu:‘wll:hg:‘l;nh Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ghl
qpml? l?n wujwunwdip dwutiwygh /wnwug ULL, hwq. npwd/
nno hwdwp ugb|
uxn/
U/a Uhtip
1 Lwjpwwbinjwu X 41400
Cunpqwsd Jwutuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Qwthwpwdhu N 50:
Yudwu wnwplw & hwunhuwund® pinnip:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnipjul
/< wujwundip hwjwntp hwjnbip huidwnnun ly I
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint i wipgnnype
nbwpnud ugh) “X”/ nbwpnud uok “X”/
1 U/ Uhtip X
Lwjpwwbinjwuu
Cunpjwd
dwutwyhg
Uwuhwll:hgbl;nh Uwutiwygh /punpywd Uwutwlygh wnwowpywsé ghu
qp;’l;l 3’"“ wuywunwip dwutiwlgh /wnwlg U<Z, hwgq. npwd/
nre hwdwp ugb|
uxw/
u/a Uhtip
1 Lwjpwwbitnjwu X 13500
Cunpqwsd Jwuuwlyghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 51:
Yudwu wnwplw & hwunhuwunud' hwyh dhu:
<pwytiph ywwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwidwwywinwuiwbnip)ul
</< wujwunip hwjunbip hwjunbp huidwnnin UywpwgpRypENt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint ngnnye!

nbwpnu bk “X”/

nbwpnud uok “X”/
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U/a Uhbip

1 Lwjpwwbinjwu X
Cunpjwd
dwutiwyhg
Uwull:‘wll:hg‘(l:ll;ph Uwutwygh /punpwd UwutwYygh wnwowpYwd ghu
qp.,..? 3 r wuyjwunuip Jwutiwlgh /wnwug U<L, hwq. npwd/
e hwdwp ugk)
uxw/
U/ Uhbp
1 Lwjpwwbinjwu X 240 000

Cunpqwsd dwutuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:

Quithwpwdhu N 54:

Yudwu wnwplyw § hwunhuwund' hwyp Ypdpwdpu:

<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwlygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwidwywinwuiwbnip)ul
/< wujwundp hwjwntp hwjnbip huidwnnun ly I
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint wau wipignnype
nbwpnud ugh) “X”/ nbwpnud ugk “X”/
1 «"T]hnwdhr}w L1l{|’1‘(1u‘|» X
une
) W/a Uhtip X
Lwjpnwwbinjwu
Cunpjwd
dwutiwyhg
Uwulwlhgubiph Uwutwlygh /punpywd Uwutwygh wnwowpywsd ghu
qruntgpwd J J
wuywunwip dwutwygh /wnwug ULL, hwq. npwd/
wtintinp
hwdwp ugk|
uxn/
1 «'ﬂhnwdﬂrr}nué Lll.lhhu”l» X 250 000
W/a Uhtip
2 Cupuigbnju 300 000
Cunpywd Jwutwyght npnatint hwdwp Yphpwndwd swihwuhs' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 55:
Qudwu wnwplw b hwunhuwun' ufunnp:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Ubhwiwywnwufuwbnipjut
/< wuyjwundip hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnye!
nbwpnud ugk) “X”/ nbwpnud uoki “X”/
1 W/a Uhtip X
Lwjpnwwbiinjw
Uwutuyhgutinh Uwutwygh Cunnyuws Uwutwlygh wnwowpywsé ghu
qpwnbgpwé dwutwyhg
wnbnbipp wuywunwip /puunnduws /wnwug ULL, hwq. npwd/
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dwutiwygh
hwdwp ugb|
“X"/

U/Q Uhtip
Lwjpwwbitnjwu

X

3 000

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 57:

Qudwt wnwplw b hwunhuwunud® Jupuwyh wpehjubp:

<{pwybpph wwhwugubphu

<pwybpph wwhwugubphu

Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn
</< wujwunip hwjnbp hwyntp %ﬁ:‘ﬁrﬁﬂtﬂﬁuﬁ:’whﬂrzlpﬁ?
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint gy
nbwpnud ugki “X”/ nbwpnud uoki| “X”/
1 «ff]hntudhr}w lJll“']'um» X
umne
2 U/ Uhtip X
Lwjpwwbiinjw
Cunpjwd
dwutiwyhg
U“‘”““‘L"‘gm;"h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
q_pwl;1 I?f““ wujwunwip dwutiwygh /wnwug ULL, hwq. npwd/
mhnung hwdwp ugb|
(&X"/
1 «'ﬂhnwdth Lll.lhhu”l» X
ume 42000
u/a Uhtip
2 Lwjpwwbitnjwu 43 680
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwn guwhwndwsd hwyn b quwiht wnweowny:
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